Solving Equilibrium Problems — Given Keq and Perfect Squares
Example: 0.500 mol of Hl is placed in a sealed 2.0 L container and allowed to reach equilibrium
as follows: 2HI (g 2 Hz(g) + |2 (g). At 400° C Keq is 3.2 x 102, Determine the equilibrium
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Solving Equilibrium Problems — Given Keq and Imperfect Squares O O \
Example: At 100° C the following reaction has an equilibrium constant of 2.2 x 10 10,
COCl (g 2 CO ) + Cl2 ().
If 1.00 mol of phosgene, COCI,, is placed in a closed 10.0 L flask, calculate the equmbrlum
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